8 DRAWERS COMBINATION SET

C-208
>
%
" z
\ ] %L
% k/L REMOVE BASE
LIFT OFF BODY \ The screw needs to be dismantled
The bolts. nuts and washers 2 by screwdriver, screwdriver not
need to be dismantled. included

3 BASE AND CASTERASSEMBLY

L
L

The bolts, nuts and washers need to be fixed by
wrench, Wrench not included

4 5 DRAWER REMOVAL
= HANDLE ASSEMBLY "

UBRICATE AND
TIGHTEN FASTENERS
PERIODICALLY

The Maximum Loading Capacity is 70 KGS (154LB)

10f2



PARTS

NG. DESCRIPTION [auanTiy
1. | SmallChest 1
2 | Upper Cover 1
3. | Crank )
4. | Ring 2
5. Ring Base 2
6. | M4 Spherical Head Screw | 8
7. Big Drawer 1
8. | Medium Drawer 2
9. | Small Drawer 3

10. | Key Set(inciuding 2 Keys) | 1
11.| Bar 2
1 2. | Drawer Plastic Pull| 6
13. Large Chest 1
14. | Plastic Handle 1
1 5 « | Slippery Connector 1 6
16.| FrontCover 1
17.| m12 Nut 18
18.| Washer 18
19, | M12 Spherical Head Screw | { 8

20. | M5 Spherical Head Screw | 4

21.| Connector 4

22.| Wheel 4

23. Big Drawer 2

24 | Drawer Plastic Pull | 2

BILL OF MATERIAL

2

2ls
@ [
@®——»9 &S— @

If faults cannot be remedied, contact the Helpline on 020 8391 6767

helpline@hilka.co.uk

Hilka Tools UK Ltd.

1 ROEBUCK PLACE, ROEBUCK ROAD, CHESSINGTON, SURREY KT9 1 EU

20f2

C-208 Issue 1 - 28-09-07



